-
o

>
o
<

[}

Ratio

efficiency vs n

Ratio

Ratio

Efficiency vs P,

05
2 0.45F
g 0'4;_
9 0.35¢
0.3
0.25E
0.2
0.15F : L4k
1SS TR WL |
0.05E ' : :

© o o o o
B [4)] [e] ~l [ee]
TTTTTT

o
w

0.2F-

4
2

107 1 10 prT (Ge\})o3

o £

—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew5_step?2_ttbar-phasel-newgeom

T
Rl
5
s
_._'r.—
.-
P
F
....F-..:..:.
%
= .
£
o
b7
F
¥ e
2
- .
g
=
==

0 : R : : :
e e

AP SN LS AR Ml

e el S Y




	Contents
	Page 1


